PΙ	٨	NT	FN	$\mathbf{r}\mathbf{r}\mathbf{p}$	PR	PICEC	PRO	\mathbf{DH}	CTION	
	А	\mathbf{I}	ועו	וועו ו			1111	17 U		

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of	Gross Farm Value
	Producers	Actes	Acie	Production	Measure	value
COTTON						
Lint - Irrigated		12,000.0	835.00	10,020,000		\$5,511,000
Lint - Non-irrigated		1,299.0	700.00	909,300		\$500,115
Seed - Irrigated		12,000.0	1,336.00	16,032,000		\$801,600
Seed - Non-irrigated		1,299.0	1,120.00	1,454,880	lbs.	\$72,744
Cotton (Total)	40	13,299.0				\$6,885,459
FORESTRY						
Pulpwood						
Hardwood				14,335	cords	
Pulpwood (Total)				14,335		
Saw Timber						
Hardwood				536,182	board feet	
Saw Timber (Total)				536,182		
Total Pulpwood, Chip & Saw,	,					\$1,185,678
Saw Timber FOB Mill						
Total Forestry Stumpage						\$387,071
Forestry (Total)						\$1,185,678
FRUITS						
Blueberries	*	6.0	2,800.00	16,800	lbs.	\$21,000
Peaches	*	28.0	70.00	1,960	bu.	\$58,800
Fruits (Total)		34.0				\$79,800
FEED GRAINS						
Corn	65	16,693.0	125.00	2,086,625	bu.	\$4,736,639
Grain Sorghum	15	1,834.0	45.00	82,530	cwt.	\$297,933
Oats	22	1,094.0	120.00	131,280	bu.	\$225,802
Feed Grains (Total)		19,621.0		,		\$5,260,374
HAY FOR SALE		,				
Grass	30	900.0	2.50	2,250	tons	\$112,500
						Daga 1 of 5

PI.	ANT	ENTER	PRISES	PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
Hay for Sale (Total)		900.0				\$112,500
HOME GARDENS	220					\$66,000
PECANS						
Native	15	140.0	40.00	5,600	lbs.	\$5,600
Pecans (Total)		140.0				\$5,600
RICE	18	5,749.0	72.00	413,928	cwt.	\$3,311,424
SOD PRODUCTION	*	280.0			acre	\$1,512,000
SOYBEANS	82	37,356.0	50.00	1,867,800	bu.	\$11,599,038
SWEET POTATOES		•				
Canning				712,000		\$1,424,000
Fresh				712,000		\$9,968,000
Sweet Potatoes (Total)	58	4,450.0	320.00	1,424,000	bu. (50 lbs.)	\$11,392,000
VEGETABLES		,				
Cucumber						
Fresh	*	1.0	200.00	200	bu. (50 lbs.)	\$2,000
Cucumber (Total)		1.0				\$2,000
Eggplant	*	1.0	300.00	300	bu. (33 lbs.)	\$4,500
Irish Potatoes						
Fresh	*	2.0	200.00	400	cwt.	\$14,000
Irish Potatoes (Total)		2.0				\$14,000
Lima Beans						
Fresh	*	4.0	80.00	320	bu. (32 lbs.)	\$11,200
Lima Beans (Total)		4.0			· · · · ·	\$11,200
Mustard (Fresh)	*	5.0	600.00	3,000	doz. bunches	\$21,000
Okra (Fresh)	*	2.0	200.00	400	bu.	\$10,000
Peppers						•
Bell	7	2.0	450.00	900	bu. (28 lb.)	\$13,500
Peppers (Total)		2.0			, ,	\$13,500

PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Pumpkin (Fresh)	*	19.0	120.00	2,280	cwt.	\$45,600
Southern Peas (Fresh)	*	15.0	80.00	1,200	bu. (24 lbs.)	\$30,000
Squash (Fresh)					. ,	
Yellow Squash	6	4.0	170.00	680	bu. (45 lbs.)	\$10,200
Squash (Fresh) (Total)		4.0			. ,	\$10,200
Tomatoes (Field)	9	20.0	900.00	18,000	lugs (20 lbs.)	\$324,000
Turnips (Fresh)	6	12.0	450.00	5,400	doz. bunches	\$37,800
Vegetables (Total)		87.0				\$523,800
WHEAT	64	10,510.0	60.00	630,600	bu.	\$2,049,450
TOTAL ALL PLANT ENTER	RPRISES	,				\$43,983,123

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Crawfish (Farm)	*	5	Acres in Prod.	1,000	lbs.	\$600
Aquaculture (Total)						\$600
FÜR ANIMALS				251	pelts	\$1,842
HUNTING LEASES					•	
Waterfowl	*	7,500	No. Acres		acre	\$375,000
		·	Leased			
All Other Game	*	1,000	No. Acres		acre	\$5,500
		ŕ	Leased			•
Hunting Leases (Total)						\$380,500
TOTAL ALL FISHERIES & W	ILDLIFE ENTERPRISES					\$382,942

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of	Gross Farm Value
	Producers	Production	Production	Measure	value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,200		\$531,468
400-500 lbs.			1,500		\$757,215
500-600 lbs.			1,000		\$559,075
600-700 lbs.			600	head	\$382,200
Steer Calves (Total)					\$2,229,958
Heifer Calves					
300-400 lbs.			1,000		\$403,165
400-500 lbs.			1,100		\$511,583
500-600 lbs.			1,000		\$527,835
600-700 lbs.			100	head	\$59,800
Heifer Calves (Total)					\$1,502,383
Yearling Cattle					
600-700 lbs.				head	\$318,500
700-800 lbs.			300	head	\$207,000
Yearling Cattle (Total)					\$525,500
Cow-Calf Pairs				pair	\$142,500
Cull Cows				head	\$205,318
Cull Bulls			50	head	\$45,923
Cattle & Calves (Total)	190	12,500 No. Cows			\$4,651,581
DAIRY					
Dairy Cows					
Milk	*	130 No. Adult Cows	1,324,200	pounds	\$218,228
Cull Cows			33	head	\$18,563
Bull Calves			66	head	\$3,960
Dairy Cows (Total)					\$240,751
Dairy (Total)					\$240,751

ANIMAL ENTERPRISES PRODUCTION

	ANIMA	<u>AL ENTERPRISES PROD</u>	UCTION			
Animal	Number of Producers	Units of Production		Total duction	Units of Measure	Gross Farm Value
HORSES						_
Brood Mares						
Race Horses	*	8 No. Broo	d Mares	2	head	\$16,000
Show Horses	8	20 No. Broo	d Mares	5	head	\$17,500
Recreation Horses	30	200 No. Broo	d Mares	55	head	\$82,500
Brood Mares (Total)						\$116,000
Race Horses	*			3	head	\$30,000
Show Horses	150			300	head	\$1,200,000
Recreation Horses	300			600	head	\$900,000
Horses (Total)						\$2,246,000
GOATS						
Show Goats				25	head	\$4,625
Slaughter Goats				100	head	\$10,500
Stocker Goats				20	head	\$1,700
Cull Goats				40	head	\$2,400
Goats (Total)	25	400 No. Does	S			\$19,225
TOTAL ALL ANIMAL E	NTERPRISES					\$7,157,556
WEST CARROLL PA	WEST CARROLL PARISH TOTAL					